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QUESTION 1

FC-SAN Direct Connect network, the connection between the host and storage via HBA card advantage of this
networking is simple, economical, easy to host shared storage resources. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 2

The basic starting point of the storage network is separated from the storage server, allowing them into a network
storage device directly connected to the network. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 3

SAN storage devices on the power flow to the right: 

A. Control Box - HDD Box - Switch - server 

B. HDD Box - Control box - switch - server 

C. Server - switch - Control Box - Hard Box 

D. Server - Switch - Hard box - Control Box 

Correct Answer: B 

 

QUESTION 4

Maintenance Assistant tool on the terminal installation and maintenance, operating system requirements must be
installed JRE version 2.6.18 or later. 

A. True 

B. False 

Correct Answer: A 
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QUESTION 5

S5000T hard 2U and 4U box has two forms, which in addition to morphological differences, with the support of the hard
disk size does not make any difference. 

A. True 

B. False 

Correct Answer: B 
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